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ﬁf (RIBITEE5R4H) SEERM BEEDER SR BEEDER SRR BEEDER SRR BEEDER SRR BEEDER SR BEEDER SR CEEDER %:S (ﬁ%igﬁ)
(ha) BT EAE) (ha) BT EEAE) (ha) BT (ha) BT EEAE) (ha) BT (ha) BT (ha) BT =ME)

X 2,511 A - - - - 53 Ve 57 - 269 - 114 N 131 N 66 N
-2 833 - - - - - 6 - 57 - 119 - 16 - 462 - - -
HEAHT 508 - - - - - - - 7 - 116 - 10 N 16 N - -
Fim 603 A - - - - 3 N 132 N 122 2 1 2 11 2 - -
FH™ 1,421 - 17 - - - - - 91 - 419 - 8 N 15 N - -
E3=L) 356 - - - - - - - - - 63 - 0 - 1 - - -
FEm™ 350 ~ - - 4 N - - - - 48 2 2 N 0 - - -
£ 2,088 - 22 - 15 - 84 - 226 - 203 - 96 - 222 - - -
E ) 146 ~ - A - - - - - - - - 3 - 12 N - -
ok 506 - - - 1 - 3 - 5 - 37 - 2 - 1 2 - -
[3l3L) 385 ~ - - - - - - 1 - 8 N - - 6 N - -
RIMET 272 - - - 5 - - - 0 - - - 147 - 6 - - -
g™ 1,959 - - - - - 141 - 59 - 618 - 24 - 162 - - -
E=pulin) 1,507 - - - - - 2 - 97 - 742 - 10 2 57 N - -
asm 228 ~ - - - - - - 34 N 236 2 1 2 43 N - -
KIEHT 57 ~ - - - - 11 - 138 N 179 2 - 2 161 - - -
Esl L) 90 - - - - - - - 7 - 224 - 71 - 18 - - -
Fargx 1,911 ~ - - - - - - 47 - 1,442 - 83 - 106 N - -
INEIER 443 ~ - - - - - - - - 56 2 - - - - - -
El 165 ~ - - - - 0 - - - 7 2 - - - - - -
=g di) 153 - - - - - - - - - 23 - 1 2 - - - -
Fa AT 904 - - - - - - - - - 196 - 2 - 2 - - -
R 73 - - - - - - - - - 56 - - - 0 N - -
AR ET 500 - - - - - 5 2 - - 36 N 3 N 44 N - -
5= SHT 199 A - - - - - - - - 7 2 7 N 455 N - -
IR HET 758 ~ 4 - - - - - - - 7 - 3 2 125 - - -
ER L BT 355 - 4 - - - - - 6 - 62 - 4 - 119 - - -
LLIER 1,155 - - - - - - - 1 - 69 - - - 0 - - -
I\ 3,224 - 498 - 9 - 2 - 529 - 346 - 78 - 0 - - -
JKJIIET 360 - 41 - - - - - 22 N 556 - 4 - - - - -

GE1) ERAX. BRAEMRVCHESEROTSMEFENER CIATFERMD) 113, SEERMELLEL. [ EINER 11 %BEEM). [ - HIFE LA )1 %LAR), [ AMER 11 %8R TH 8.

(G¥2) FRAXOISEERM (ha) ). hEREBERERABEL-EH.

(Z3) BEXROISEERM (ha) (3. R EBERESHSIBEL-ER,

GE4) MIAX. FHHIHEMEAK. KBRAX, AHAX WCSAREOISFERM (ha) J1&, R BOREEH. X K OTSFEERM (ha) I3, A RBBSENMENFRBERHESFCHAEIoT-EH (EHE) . (1/2)
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ﬁf CRB 4 4D SEERM | 6FEOEM | SEERM | 6FEOEN | SEERMl | CFEOER | SEERM | oFEOEM | SEERM | 6FEOEM | SEEFEM | CLEOER | SEERM | 6FEOEM %:S (ﬁ%igﬁé)
(ha) BT EAE) (ha) BT EEAE) (ha) BT (ha) BT EEAE) (ha) BT (ha) BT (ha) BT =ME)
KIRE 569 - - - - - 0 - 7 - 36 - - 0 - - -
AGm 362 - 4 - - - - - 15 - 171 Ve N Ve - -
FRET 410 - - - 2 - - - 14 N 448 - 1 N 1 Ve - -
HEEFYHET 807 - 71 Ve 4 N - - 1 - 998 Ve 66 N 51 N - -
HEH 159 - - - - - - - 3 N 119 - 7 N 0 N - -
LT H 115 - 1 - - - - 2 - - 19 - - - - - - -
BREEHS 49 - - - - - - - - - 8 - - - 0 - - -
AARH 6 - - - - - - - - - - - - - - - - -
XEM 1,029 - 5 - - - 0 - 37 N 586 - - - 3 Ve - -
EXEM 164 ~ - - - - - - 3 N 36 2 16 N - - - -
B ld:i) 130 N - - - - - - - - 40 2 - - - - - -
% RKHT 597 - 3 - - - - - 18 - 350 - 9 N 6 N - -
A RIET 252 - - - - - - - 20 N 74 - 3 - 0 N - -
KEH 125 - 1 N - - - - 1 N 17 - 1 - - - - -

GE1) ERAX. BRAEMRVCHESEROTSMEFENER CIATFERMD) 113, SEERMELLEL. [ EINER 11 %BEEM). [ - HIFE LA )1 %LAR)., [ AMER I %8R A TH 8.

(G¥2) FRAXOISEERM (ha) ). hEREBERERABEL-EH.

(Z3) BEXROISEERM (ha) )3, R EBERESHSIBEL-ER,
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